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1. Dholpur Combined Cycle Power Station is operated by
(A)  Neyveli Lignite Corporation India Ltd.
(B) Rajasthan State Mines and Minerals Ltd.
(© Rajasthan Rajya Vidyut Utpadan Nigam Ltd.
(D) AdaniPower Kawai
(E)  Question notattempted

HITR FHarEe dEfha TR WA fHefafad § & feas grr gefea § 2
(A) et ferrge fm wrd fafies

(B) TS T5¥ BEA iR @it faftes

©  USTEAM A forgd 3cres fm fafiee

(D) TR IR halls
() STRa 9sA
2. Who has been appointed as the first woman High Commissioner to India by Britain ?
(A)  Lilly Gunasekar (B)  Gill Atkinson (©  Alicia Herbert
(D) Lindy Cameron (E)  Question not attempted
fores g1 WRa # fore o wfgen o1 S e foean e ?
(A)  fered T @)  firer wefhem © ot e
D) fod<t FaEn () 3TaRa TeA
3. Given below are two statements :
Statement (I) : First Prime Minister of India wished to achieve the objectives of Foreign Policy through the
strategy of non-alignment.
Statement (II) : India was never trying to convince the other developing countries about the policy of

non-alignment.
In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.
(B)  Both Statement (I) and Statement (II) are correct.
(©) Both Statement (I) and Statement (II) are incorrect.
(D) Statement (I) is correct but Statement (II) is incorrect.
(E)  Question notattempted

T < e fRw M §

HU(I):  IRA & YUH T faswr fifa & St =i [ef e ifa & meem @ wifee s 9ed o |

H (I1):  Tefued i HIfd & aR H 311 forshreeiial <90 sl TeHd e & foaw a3 st off yamy =& foha |
ST el < ST |, e XU T fashedl o § Gerd Suger S 91 |

(A) A (1) T B, AR R (1) T T

(B) YA (1) R HeH (1) T T |

© I (I) R HRAT (IT) AT TTerad € |

(D) heM (1) T 8, AfehT e (1) e § 1

(B) ST

4. Who is the author of song ‘Dharti Dhoran Ri" ?
(A) Kanhaiya Lal Sethia (B)  Vijaydan Detha (©  Allah Jilai Bai
(D)  GavariDevi (E)  Question not attempted
‘et ol R o TfiaeR (SrEe) A E ?
()  FHarera dfea ®) fostasrH g © ieare fore =
D) TR < B)  STgaRd weT

~ B23 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

5. Which of the following is a type of computer network ?

(A) RING (B) BUs (© STAR
(D) PAN (E)  Question notattempted
Freafafad # 9 HiF 91 Hre 29 Tl Th THR § ?
(A) 3R 3TE TF S (RING) (B) g TH (BUS) (© TEI TSR (STAR)
(D) YT (PAN) ) FaRa g
6. Given below are two statements :
Statement (I) : Veer Savarkar formed an organization named ‘Mitra Mela” during the partition of Bengal
with his companions and made a bonfire of imported clothes.
Statement (II) : British government had imposed a ban on Veer Savarkar’s book, “The Indian War of

Independence” before it could be published.
In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is false but Statement (II) is true.
(B)  Both Statement (I) and Statement (II) are true.
(©) Both Statement (I) and Statement (II) are false.
(D) Statement (I) is true but Statement (II) is false.
(E)  Question notattempted

= St e fRg e §

HUT(I): IR GRS A Tt A, ek e s IR set faerei & S o0 anferdt & wne freres fojent
FUSI i Blell STer |

HA (I1):  Torfeet TR 1 SR TR i T, ‘3 Sfedd ar i Sfedcd’ o Yo 9 9eal 7 39 W Ufdsid o
feam

SIS HeHl & 3T 3, < fXu T fowed § 9 wod 3uged S 1 |

(A) Y (I) T B, Tk R (II) TA T

(B) R (I) 3R T (II) 3T & TA Z |

© WY (I) 3R HYF (I1) I Tora 8 |

(D) YA (I) TH B, AhT R (1) Tod |

(E)  STIARa ¥

7. A,B,C,D,E, F,Gand H are eight friends sitting around a circle facing towards the centre, not necessarily in same
order. His on the immediate left of A but H is not the neighbour of E or D. F is on the immedjiate right of Band G
is the neighbour of E. C is between E and F. What is the position of G ?

(A) Immediaterightof D (B)  Second to the right of F (©)  Third to theright of F

(D) Immediate right of A (E)  Question notattempted

A,B,C,D,EF,G 3R H o713 firs, T 99 % 9Rf 31k % & W 4e fhT 93 ¥, sTovas &9 § 36 59 § 7 |
HAFIFITEIRSAFAIH, ETD FITAH TR SIF, BH AFH B ARG HISH ETIC, E IR F
F U T TG H feafq wnE?

(A) D 3 IE 3R (B) F &R ARHTHT (© F & <E IR § I
(D) A% 3®TE IR (B) ATINGTH
8. The life history of the saints which is available in poetry form in Rajasthani language is known as
(A) Parchi (B) Vaat (©  Jhamaal
(D)  TJhootna (E)  Question not attempted
[Tt 9T B Iqersy hfadn H Gdl & Sfte giid i o1 el Sa1 € 2
(A) 9= (B) O © FH
© =T (B)  SRA A
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10.

11.

12.

13.

‘Anti-Arrack Movement’, in Andhra State was a movement against :
(Choose the most appropriate option from below)

(A) Industries (B)  Poor condition of farmers ©
(D) Agriculture (E)  Question not attempted

‘St forielt STiRie ) STy Y_w | * foeg sT=Iem |

(771 9 9 Herd Sugert ferened 9+)

(A) SEM ®) TwaHl =t 3= 32w ©
D) F (E)  STIARA wed

Which place of Sikar area is famous for gota industry ?
(Choose the most appropriate option from below)

(A) Nechwa (B)  Khoor ©
(D) Khandela (E)  Question not attempted

i o 3ok B hiF 91 T T ST 8 Wiag © 2

(fr=1 & & wod 3uged fohed )

(4) T B = ©
D) wrea ()  SFIARE wed

In which of the following cities of Rajasthan Mahindra World City is located ?
(A) Udaipur (B) Jaisalmer ©
(D) Jaipur (E)  Questionnot attempted

Afeg e fdt Tomem % e # & form vt § feem ©2

(4) TR (B) ST ©
D) SEg ()  SFIARE wed

Whatis the most appropriate synonym of word “Sociable” ?

(A) Inhospitable (B)  Bankrupt ©
(D)  Friendly (E)  Question not attempted

Given below are two statements :

Statement (I) : Fishing can be done only in freshwater ecosystems.
Statement (II):  Fish is a cheap source of animal protein for our food.

GET IT ON
Google Play

Alcoholism

Piprali

Jodhpur

STTEgR

Snob

In the light of the above statements, choose the most appropriate answer from the options given below.

(A)  Statement (I) is incorrect but Statement (II) is correct.
(B)  Both Statement (I) and Statement (II) are correct.

(©) Both Statement (I) and Statement (II) are incorrect.
(D) Statement (I) is correct but Statement (II) is incorrect.
(E)  Question notattempted

T wy feg e § -

HAA(I): AT T Hadl Wos Wel s (Shifaen) § & Hehel €1
HAA(I):  FST TR WM & TAC 95 T 1 T Tl &1 ¢

ST el < STreh |, < XU T foaehedl o § Gerd Suge ST 91 |
(A)  HYA (I) T © TR THAT (1) T S|

(B)  HYUT (I) R weM (1) I T T

© M (I) 3R heM (I1) I & e €

(D) TR (I) TRl 8 AR ST (1) T S 1

(E)  TIARa T
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14.

15.

16.

17.

18.

19.

20.

21.

Psamments, Orthents and Fluent are sub-orders of which of the following soil type ?

(A)  Alfisols (B)  Entisols (©) Inceptisols
(D)  Vertisols (E)  Question not attempted

ey, idfed IR weqde frfafed o § ford fiagt & yer o Suant § 2

(A)  srfewdeH B) UfeHed © sHfedey
(D) afdd () oTaRd ¥

The Indian Institute of Space Science and Technology (IIST) was established in 2007 at :

(A)  Jodhpur (B)  Chennai (©  Thiruvananthapuram
(D)  Vishakhapattanam (E)  Question notattempted

WA sfafet faam ofit renfirrt weam (o emgumd) 2007 H el W Tonfaq foran e on ?

(A) SR B) ©  ferag
(D)  formETET ® @

R HfY % g 9% fhad 2§ 2

(4) ®) =W © =

O B (B)  SIRE A

‘SR T ST SIS, ST e o1 fag, AreRifa o e1df ¥
(A) T % faeg T AT

®)  The &1 Ot =Afad FH T I €, W H AfYE |
© A 3T TR T G HE |

(D) M 7 ST AR G ST

(B)  SHERE A

Who has been chosen as the recipient of ‘415t Lokmanya Tilak Award’ ?

(A) Narendra Modi (B) Dr.K Siwan (©  Dr.Mayilsamy Annadurai
(D)  AmitShah (E)  Question not attempted

‘419 R fofeteh ' qeehr o fore ford g1 e ?

(A) Wz HEl (B) =i % fqEm © =f. weireEndt STt

(D) IfFa W (B)  STIaRd ¥

T § i Torg ot form ¥ fere s Sl 32

@) - ® ©

© (E) STgaRd v

If B = 25,SON = 33, then PEN = ?
Ifg B =25 8, SON =33, 9« PEN fgu 7t fasredi # 9 foreer IR 8 ?

A 49 B) 35 © 33

D) 46 ()  Question not attempted / STARA T

Periscope works on the principle of :

(A)  scattering of light (B)  refraction of light (©)  reflection of light
(D) diffraction of light (E)  Question not attempted

AT e Fagia T Far g ?

(A)  FhTRIGRIUH (B)  WeRISI ST (@I EINRERE]

(D) Yok forerd (B) Taid gsA
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22,

23.

24.

25.

26.

27.

‘Critical Minerals Summit, 2024 was held in which of the following places ?

(A) Bhopal (B) New Delhi (©  Surat
(D) Dhanbad (E)  Question not attempted

Frefafed o 9 frg wom w ‘frfesra fate wftae, 2024 s 8 2

(A) e ®) % feeed © ¥«
©) o (B)  SATERA A

The ratio of the number of boys and girls in a schoolis 5: 6 . If the percentage increase per annum in the number
of boys and girls be 20% and 30% respectively, what will be the new ratio after one year ?

T Thal § TSh! IR cISiohal i T 1 AU 5 : 6 T | A AShi AR Aol bt T | HHsl: 20% R 30%
1 ifies Jfg Bt &, o1 Tk o o 1S A7 ST 1 1 2

A 11:17 (B) 10:11 © 10:13

O) 11:13 ()  Question not attempted / SN T

Which of the following trade policies introduced MEIS- Merchandise Export from India Scheme ?
(A)  Foreign Trade Policy, 2021-2024 (B)  Foreign Trade Policy, 2004-2009

(©)  Foreign Trade Policy, 1991 (D)  Foreign Trade Policy, 2015-2020

(E)  Question notattempted

frefafed o @ form =R fifa 7 MEIS - ¥Ra | a%q faia s & &t ?

a)  foser =R fifa, 2021-2024 ®) faser =R fifd, 2004-2009

© foiw =mR #fq, 1991 @) faswr =mr FHifd, 2015-2020

(B) ST A

Following is the full form of SLR in Indian Financial System is :

(A)  Statutory Liquidity Ratio (B)  State Liquidity Rate (©)  State Lenient Rate
(D) Statutory Low Ratio (E)  Question not attempted

TR fareita gomeft § 71 § | 76 T 1R (SLR) 1 Y0 €9 R :

(A) ST T ST (B)  TSH TR STIAM (© TSI TR U
(D) FenfTeR =7 S (F)  STIORA 7o

Compute the : Binary Code addition (BCD)

A shie TeeH (BCD) HASH it TTUMET o

2+3=_72 .

A 1111 (B) 0000 © o101

(D) 1000 ()  Question not attempted / SN T

Which of the following was NOT the immediate major challenge of Independent India ?
(A)  Adopted representative democracy

(B)  Toaccelerate the rate of industrial development.

(©) Shape a nation that was united

(D) Development of the society

(E)  Question not attempted

frefafed § 9, @i vyra =61, S W deRas 7@ A Ta@ o ?
(A)  eifiRa gfaffua wrends

(B) AT foahrd st X T TS HEAT

(© T U I SRR A ST Cohell o G H o1 g3 o1

(D) FHS 1 faer ™

E) ST v
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28.

29.

30.

31.

32.

The Vishakhapattanam Industrial Region is famous for which type of industries ?

(Choose the most appropriate option from below)

(A)  Ship building (B)  Iron-Steel (©  Automobile
(D) Engineering (E)  Question not attempted

ooz afenfies & ford TR & SEl & o ufag &2

(f=1 5 & w8 Iuge fosed 97)

(A) e fafo (B) dE-sEm © e

(D) SR () IR FeA

When was the state of Rajasthan completely unified ?

(A) 30November, 1959 (B) 1November, 1956 (© 30November, 1957
(D) 1November, 1958 (E)  Question not attempted

TSR T3 <1 01 TehThT0l el T 2

(A) 30 TER, 1959 (B) 1 TN, 1956 © 30 TR, 1957
(D) 1 e, 1958 (B)  TIaRd gsA

If ‘<’ means ‘minus’, > means ‘plus’,“ =" means ‘multiplied by’ and ‘$’ means ‘divided by’, then what would be
the value of

31>81$9<7is:

IR <’ WA >'IEE = MR SR G am e

31> 81 $9 <7 o HH &1 :

@A) 41 ®B) 31 © 33
(D) 37 (E)  Question not attempted / STTARA T

The diameter of a sphere is 8 cm. Itis melted and drawn into a wire of diameter 4 mm. The length of the wireis:

Teh TiTet <l =9 8 Tt B | 30 THerement e 4 Tt =99 & aR | ©i=n Sai €, a) i oeng 2r

1 2 2
A 3123 — cm B 1066 — cm C 4266 — cm
*) . ®) 3 © 3

1
(D) 2133 3 cm ()  Question not attempted / ST T

Which of the following tourist centre is not located near Ajmer ?

(A)  Gulab Bagh (B)  Taragarh Fort (©  Daulat Bagh
(D)  Ana Sagar (E)  Question not attempted

Freafafed wefet el 8 | w1 STomR & T feer e § 2

(A) T E (B) AwrTE fepem © <
(D) STFENR () ARG
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33.

34.

Given below are two statements :

Statement (I) : Dadudayal (Kabir of Rajasthan) was born on Phalgun Shukla Navmi in 1542 AD in Dholidub
village of Alwar.

Statement (II):  Dadu gave his teachings on Brahma, Jiva, Jagat and Moksha in a simple language
(Sadhukkadi).

In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) and Statement (II) are correct.

(©)  Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E)  Question notattempted

oS HeA fgu e €
HAA():  IEEATA (TSTEAH % FHeR) HI STH AR o Hiieiige/eigd Ma H 1542 AD H WV Yo TaHT b
SR

HYA(I): TS 7 FHA 9T (FYFhRE!) § 7, S, S IR Hiel W T 399 |
ST el < STreh |, e XU T faehedl o § Gerd Suger S 91 |

(A) Y (I) TTeTd &, R he (II) T T

(B) A (I) IR e (1) 1 T B |

© I (I) 3 HRAT (IT) AT TTera € |

(D) M (1) T 8, AfehT e (1) e

(F)  STgaRd oA

In the given question a statement followed by two conclusions numbered I and I are given. You have to assume
everything in the statement to be true, then consider the two conclusions together and decide which of them
logically follows.

Statement : India’s economy is depending mainly on forests.
Conclusions: @ India wants only maintenance of forests to improve economic conditions.
(M)  Treesshould be preserved to improve Indian economy.
In the light of the above statements, choose the correct answer from the options given below.
(A)  If only conclusion (II) follows (B)  Ifboth (I) and (II) follow
(©) Ifneither (I) nor (II) follows (D)  If only conclusion (I) follows
(E)  Question notattempted
fou T yeA ¥, e e IR SHeh o1 1 3R 11 shdiferd <t freend fou 7T § | o1aeh! shem o <) 1 |edt o1al sl T JE
2, TR ST frepd W ush T faam Y @i Fofar of for S0 @ =i arfeher &9 @ STER0 a1 €1

R : IRA 1 Al & 9 ¥ T W 7R Fedt 21

frerd: @ o1 o feafa 1 guRA % foT uRG 61 FHaet 3T T 1 TEREE HET S|
() U 1 IRRETYT, WA STefeqaee sl YorA o foare fohan St =nfeu

ST HHT & el H, S fXu T fasmedt # 9 ud S g |

() FHoe TR (1) STTE HA | B) (1) 3R (I1) AT STTEOTHW R |
© A FIRTE M) STTRI @S (D) had (=Y (1) TR0 ¢ |
(E) SRR wed

~ B23 8
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35.

36.

37.

38.

39.

When an emergency is declared due to the failure of the constitutional machinery in the states. It is invoked
under :

(A)  Article 360 (B)  Article 350 ©  Article 352
D)  Article 356 ()  Question notattempted

e T B Gk o5t oht fthetan o T STaTdeRTet St TR < § 1 98 fRe STt A e ?
(A) 3T 360 (B)  3TT=T 350 ©) 3T=T 352
D) TR 356 (B)  TIART g

Ankur deposited Rs. 8,000 at simple interest which amounted to Rs. 9,200 after 3 years. Had the annual rate of
interest been 3% more, how much amount he would have got ?

(A) Rs. 10,000 (B) Rs. 9,900 (© Rs.9,800
(D) Rs. 9,920 (E)  Question not attempted

3THT A 8,000 T HIHRV =S T 541 hT 1 foh 3 a9 917 9,200 ¥94 2 MW AR aifticr =11 3% 3Afeeh =ran af
oot wfer 9w gt 2

(A) % 10,000 (B) ¥ 9,900 © % 9,800
(D) % 9,920 (B)  TaRd 9%

Which of the following is not a bitwise operator ?

frfafed o § SF-91 foearss sifae 78 § 2

A << B) . O &
D) >> ()  Question not attempted / STTARA T

The smallest unit of data in computer is

(A) Bit (B) Nibble © KB

(D) Byte (E)  Question notattempted

FTAR T 3RSl &t Tl B ST gl

@) fa= ® feE« © 'l (KB)
D) ¥ €  SHaRa WA

The Sankosh Hydel Project is Joint Venture between

(A) India and Bhutan (B) India and Nepal (©) India and China
(D) Nepal and Bhutan (E)  Question not attempted

Henrer TAfersTelt gfESTT o < <1 o St o1 S 39 | ?

(A) 9RA 3R R (B)  Rd 3R AU ©  9Ra iR =
(D) AT SR YA ()  IAa T

~ B23 9 P.T.O.
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40.

41.

Match List-I with List-II.

List-1 List-1II
Memorials Place
(a) Jaswant Singh’s Thada (i)  Jaisalmer
(b)  Chhatris of Rulers and Paliwals (i) Bundi
(¢)  Chaurasi Khambon Ki Chhatri (iii)  Alwar
(d)  Fateh Gumbad (iv)  Jodhpur
TAR-1 6 |1 G-I A BT -
-1 LI
ek e
() SHad g o o () SR
(b)  TEHT SR AT wt St (i) o
© =R gl w sad (i) TR
(@) e TR (v) SR
Choose the most appropriate answer from the options given below :
= X T faehedl # & Hod SUge ST I |

@) (a)- (i), (b)- (i), (c) - (), (d) - (iv)
B)  (a)- (i), (b)- (iv), (o) - (iii), (d) - (1)
©  (@)- () (b)- (i), (c)- (iv), (d) - (i)
@) (@)-(@v), (b)- () () - (i), (d) - (ii)
(E)  Question not attempted / SN T

Given below are two statements :
Statement (I) : Rajasthan gets rainfall from the Monsoon of Bay of Bengal and Arabian Sea.

Statement (II) : Bay of Bengal Monsoon pass through the Rajasthan without giving much rainfall to it because
there is no proper obstruction available in the passage of it.

In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) and Statement (II) are correct.

(©) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E)  Question notattempted

T 3 e fRu T €

HIT(): oA i WEl 31 3RS GER % TG I Toree™ | 991 2t g1

HAA(I): S i WIS HT AHGH TR H for 31fersh oot forw Toran §, Riifer g9k Tor & ot | fonelt 7R
T Y T 7 |

I HUAl ok SR ¥, o T 7 fohedl ¥ & Tad Suga ST T |

(A) U (1) T §, AR e (I1) T 2 |

(B) AT (1) 3R YT (I1) I T T |

© R (I) 3R /YA (I1) IHT TTerd

(D) M (1) T2 T, e e (1) TTed T

()  STgaRd oA

~ B23 10
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42,

43.

44.

45.

46.

47.

HAT- (1) : ‘T I B SHRV WH HS T |
HYT - () : ' 03" AT AT HT IR T 7 B |
ST HUAT & s | FAfafed fomed ¥ 9 W@ 3w 1 ¢

(A) e (I) 3TTA T, foheg e (1) T 7| (B) A (1) IR (1) ST TF ¥ |
© Y (I) 3R (1) AT 31T ¥ | (D) A (I) 9 T, foirg e (1) 39 T
®)  FFaRa T

Who among the following is the member of the Inter State Council and the Governing Council of Niti Aayog,
both ?

(A)  Speaker of Lok Sabha (B)  President (©)  Chief Minister of States
(D)  Governor (E)  Question not attempted

frfafaa o 9 o9 i T2 Iieg e Aifq = o) e uiive (Tafd wefad) Sl o 95 B § ?
(A) ARG h1 AAH (B)  TegUld © Tk g Al

(D) TIUTA () ARG 9

The Council of Ministers of Indian Union is collectively responsible to the :

(A) LokSabha (B)  President (©)  Prime Minister

(D) Rajya Sabha (E)  Question not attempted

RS T % Tl Hed & 9 Wrfesh €9 ¥ forgss ufq et @ €2

(A)  rRE (B)  UgAfd ©  umEEst

(D) T84t (B) S IGRSES|

Which of the following is not the alignment of the paragraph in MS-word ?

(A)  Before Alignments (B)  Left Alignment (©  Right Alignment

(D)  Justify (E)  Question not attempted

frefafaa 8 @ wF @ ..o d T o g T8 2 ?

@A) & EEn (B) & HE © 3 T

(D) SIEwE () ARG YA

IR Hfaem & s’ wsg 6 g foRe ered # fohen wen €2
() e faftre T2 4 gy v & &9 H

(B) Y% &I H

(C H¥Hh Wk €9 H

(D)  THRI HTHhTS o FoIT T W7o o &9 H

() TR T

Choose the most appropriate preposition from below in the sentence :

India is beset many problems these days.
(A) on B) of © to
D) with (E)  Question not attempted

~ B23 11 P.T.O.
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48. The assertive role played by the judiciary in the protection of the rights of the citizens and in promotion of justice
in society by intervening in areas falling within the domain of legislature and executive is called :
(A)  Original Jurisdiction (B)  Judicial Activism (©  Judicial Review
(D)  Appellate Jurisdiction (E)  Question not attempted
ArErTfeTeRT §RT ANTRGRT o SAfHehRI o TXayon § feaarce ftreht iR faumht e wriufes % aefiear § sy &
B TS H AR % HoH| Y R el S g ?
(A) R srfeeRi (B) = Gishadmeng ©  =fen gAderor
(D)  TdTeita sifuenTiar (B) ARG I

49. Who was the Chairman of the committee on financial systems in India, which recommended the setting up of
Assets Reconstruction Fund (ARF) ?

(A)  Sh.M. Narsimha (B)  Dr. Manmohan Singh (©  Sh.P.Chidambaram

(D)  Sh.Pranab Mukherjee (E)  Question not attempted

IRa H faxita yomelt R s+t afufa & seaet #i9 9, 5= afdufa & gAfafon «m (TR TE.) H I St
I i off ?

() gy wigw B) I e fog © ot . fadeam

(D) 4t gorel g (B)  TIaRd usA

Read the passage and answer the questions that follow :

In an often-overwhelming world, staying sane means learning to remember and allowing to forget. Phones,
wallets, sunglasses, keys, a box of cornflakes, even a ukulele and, once, a gate valve. These are among the things that
passengers have forgotten in cabs in 2023, according to Uber India’s annual ‘Lost and Found Index’. Further insights
suggest that Delhi is the most forgetful city in India, that people are most prone to absentmindedness in the evening -from
7 pm to 9 pm - and that the festive days around Diwali tend to make people more distracted than any other time of the
year. No doubt this information is amusing, and even useful - one could, for example, learn to be vigilant about one’s
belongings during the weary, post-work cab ride home. But the real lesson here is that forgetfulness is inevitable.

In Remember : The Science of Memory and the Art of Forgetting, the American neuroscientist Lisa Genova explains that
“a finely orchestrated balancing act between data storage and data disposal” is key to a well-functioning memory
system. In other words, as much as remembering - to turn off the gas, your child’s smile when you return from work or
that the deadline for filing tax returns is close - is necessary, so is forgetting - your score in Class X boards, the heartbreak
of an early love or the time a colleague slighted you. In their own way, both help maintain sanity in an often-overwhelming
world. Consider the condition of the titular character in Jorge Luis Borges’s story ‘Funes the Memorious” whose prodigious
memory forced him to note the progress of decay, corruption, fatigue and death and doomed him to be “the solitary and
lucid spectator of... an intolerably precise world”.

50.  According to Lisa Genova, remembering and forgetting data from your memory is necessary because :

(A)  itcan make the person happy and contented (B) forgetfulnessininevitable

(©)  this can make the person insane (D) it helps maintain sanity

(E)  Question notattempted

51. The mainidea in the write-up is :
(A) Making us learn that forgetfulness is inevitable.
(B) Urging us to remember the things
(©)  Allowing us to be forgetful
(D)  Asking us to be more vigilant
(E)  Question notattempted

52.  The key to a well-functioning memory system is
(A)  tonote the progress of decay, fatigue and death.
(B) veryimportant to survive in an overwhelming world.
(©) balancing data storage and data disposal.
(D) reminding to pay taxes, and forget heartbreaks.
(E)  Question notattempted

~ B23 12
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53.

54.

55.

56.

57.

58.

Word ‘precise’ means :

(Choose the most appropriate option from below)

(A) Estimate (B) Vague (©  Abstract
(D)  Specific (E)  Question not attempted

The pair of autosomes present in human beings are :

T fa # frae SiTS Fifaes o (STemm) B € 2

A) 4o B 23 © 22
O 21 (E)  Question not attempted / ST T
Pangong Tso and Tso Moriri lakes are formed in which part of Himalayan Range ?

(A) Darjiling and Sikkim Himalayas (B)  Arunachal Himalayas

(©) Himachal and Uttarakhand Himalayas (D) Kashmir Himalayas
(E)  Question notattempted

it 6 iR & AR il ferter o forw & o feerd €2

(A)  =Sife iR fafern femrea (B) U fenTera

© feama iR swEE e (D) IR feAre™

(B) SRR S

The Darrah Game Sanctuary was converted as .

(A)  Mukundra National Park (B) Keoladeo “Ghana” National Park

(©)  DesertNational Park (D)  Sariska National Park

(E)  Question notattempted

e T AT HI & w9 # aftafda feman

(A)  HEHEU YA qrh (B)  heered ‘HMT" A Uk

©) S WHA Uik (D) &R T Teh

(B) SRR S

T | HE A o W F | E 2

(@) oo™ b) T (©  SEHR d) FFa e SN
= T T foshedl # § oM SuFa I Al 99T HIT

(&) 5 (), (d) TR (e) B)  F (@), (b) ¥R () © F9 @) (o) T (e)
(D) 9 (c), (d) ¥R (e) (B) S v

Choose the odd one out.

39 ot o1 9 S gEdl @ fm R

o/ \

()  Question not attempted / ST T

~ B23 13 P.T.O.
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59.

60.

61.

62.

Anironrod of uniform thickness of length 5.6 metre weighs 2.4 kg. How much will be the weight of 5 iron rods of
the same thickness and each having length of 8.4 m ?

(A) 18kg (B) 15kg © 16kg
(D) 25kg (E)  Question not attempted

T A TR it A 1 9 FTHh! oag 5.6 HeX § &1 UR 2.4 fF.I0. 8, O 5 THH B2 Fi &S 1 DSl 9R T4
B, 9% Y& DS I Ao 8.4 WX B2

(A) 18 TR B) 15 f&m © 16 TR
(D) 25 f&m. (B)  TaRd gsA

Choose the most appropriate articles for the sentence given below :

But mine is not typical story. In my story Scotsman is generous, Irishman is logical and
Englishman is romantic. O, if it’s fantastic story I'll listen with pleasure.
(A) ; the, an, an; a, (B) a;a,an, an; a,

(©) a;the the the;
(E)  Question notattempted

(D) a; the, the, the; a,

The total marks obtained by a student in Maths, Science, Social Science and English together is 140 more than the
marks obtained by him in Science and Maths. What is the average marks obtained by him in Social Science and
English together ?

Ffe nifor, famm, amfee foam iR siish & e 1 g/ W< $a 3i, faam iR i § re il & 140 a1feren
g, dramHitStes o 3fiR 3l | Sk gR1 W 3ieh! 1 SiTEd o § ?

@A) 50 B 75 © 70
D) 60 (E)  Question not attempted / ST T

Assets Reconstruction Fund (ARF) was set up for the purpose of

(Choose the most appropriate option from below)

(A)  Toassist Reserve Bank of India on managing Commercial Banks

(B)  To takeover the bad and doubtful debts of Nationalised Banks and Development Finance Institutions
(©) Tofinance the Commercial Banks on low rate

(D) To finance the Development Finance Institutions on low rates

(E)  Question not attempted

qfRgafa gafamo 4 (ARF) st wema I TR T |

(71 % & we® Sugert forehed )

(A) Ao Sehi o JeEA H MR Td o i FerEd w & fau

(B) UEIHA dehi AR forerrd fom Heemi o @@ iR Higre kol i 310 frisron § o1 & forg
(©  arrires Sl 1 %A g0 W fodd I8H % & fa

(D) o faa Heml 1 FF 30 R faadiiia & & fag

(B) STIARa ¥
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63.

64.

65.

Three resistances of 3 ), 4 () and 5 () are connected in series in a circuit in which a battery of 6V is also connected.
Which of the following option (s) is/ are correct ?

(@)  The potential difference across all the resistances is same.

(b)  The current in each of the resistance is same.

(¢ Theequivalent resistance of the combination is 12 Q).

(d)  The currentin the circuitis 0.5 A.

Choose the most appropriate answer from the options given below :

(A) (@), (b),(c)and (d) (B) (a)and (b) only (©  (c)and (d)only

(D) (b),(c)and (d) only (E)  Question not attempted

T Hihe H T IMAM 30, 4Q T 50 e § S g 68 Th 6V Fi b off g1 7 1 Tt feafa & Frafafea
H {9 forehed Tl 22

@ T iR # favyerm gum g

b) T FfRiy A faeasm guE ¥

© @ gfady 1 guged gfRd 12 Q ¥

(d) Gfhe ¥ forE “TI W@ 05 A R

= T T foshedl H € oM Suged ST 9

@) (@), (b), (c) M () (B)  FA (a) R (b) ©  F (c) I ()

(D) F9 (b), (0) 3T (d) () TR e

Given below are two statements :

Statement (I) : Dr. Bhimrao Ambedkar led the Mahad Satyagraha in March 1927 to challenge the regressive

customs of the caste Hindus.

Statement (II) : Dr. Ambedkar established the Bahishkrit Hitkarini Sabha in 1924 to highlight the difficulties
and grievances of the dalits before the government.

In the light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) and Statement (II) are correct.

(©) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E)  Question notattempted

= St e fRg T E

HIUA(D):  ©f i sTeEet 3 T 1927 H &g snfa 6t gfammt genedi i gt 39 ¥ HeTS UAWE H g
ERIN

HYA(I): I TISH 7 1924 H THR o TH& Sferdl ol sl iR FIh@dl I IR HE Tg dfesha
TedqaRTRoft [T T TTOT T |

YR Al ok 3Tres |, e X T foeedl § § werd Suge S g4 |
(A) I (I) T T, TR R (I1) T

(B) YA (1) R HYA (11) T T T

© Y (I) 2 ke (I1) I Tord © |

(D) e (1) T &, AR /I (I1) TTerd S

() SuRd 9

Which of the following is not an agro-based industry of Rajasthan ?

(A)  Textile Industry (B)  Rubber Industry (©)  Leather Industry
(D) CementIndustry (E)  Question notattempted

Freafafaa § @ oF 91 S ToRAH % F0 anenfia Sem w enenfa T2 € 2

(A) HUS A (B) &S M © =S 3E

(D) HHe g ()  STIAa 9
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66.

67.

68.

69.

70.

Who among the following moved the ‘Objective Resolutions’ in the Constituent Assembly of India ?

(A) Jawahar Lal Nehru (B) B.N.Rao (©) Rajendra Prasad
(D) B.R. Ambedkar (E)  Question not attempted

Frefafad o 9 foram ardia dfaum g 3 S Sehed’ a&qa fean ?

(A) ST A TEE (B) TA @ © TSETER

(D) .3 sTaEHT (B)  TIaRd gsA

‘CAZRY institute is mainly involved in research of

(A)  Mining of Minerals

(B)  Sustainable farming systems in arid ecosystem

(©  Animal Husbandry in Desert

(D) Land reforms

(E)  Question notattempted
frefafea o 9 fha oy § ‘CAZRY WX 4 €9 § wfia €2
A) TSl 1 T

(B) = uiiRfkefaent o H foshres it gomeft

© T H e

O  qH YR

() SAARd usA

Which of the following dams of Rajasthan produces Hydroelectric power ?

(A) Swaroop Sagar Dam (B) Mabhi Bajaj Sagar Dam (© MejaDam
(D) JawaiDam (E)  Question not attempted

TorEr o1 freAfefad § @ hie 91 die Sefage wied 1 Scaee il § 2

(A) TEI YR 9y (B) W&l SIS HIR &Yl © ESHY

(D) ST &Y™ (B)  oTaid 9sA

Who was called the Father of Indian Renaissance ?

(A) Keshab Chandra Sen (B) Debendra Nath Tagore (©) Ravindra Nath Tagore
(D) Raja Ram Mohan Roy (E)  Question not attempted

TR ASTROT <Rl STk fohd el T § 2

(A) ¥R 9T (B) <o MU TR © g Y TR
(D) T ¥ HiEA T () oaRd we

From the options below, choose the most appropriate meaning of the underlined idiom in the given sentence :

Laila’s feelings “ down in the dumps ” is a temporary phase.

(A)  Feeling very sad (B) Poverty (©  Malnutrition
(D)  Feeling elated (E)  Question not attempted
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71.  Given below are two statements :

Statement (I) : Phosphate rock is mostly used in the manufacture of superphosphate which is utilized as a
Nutrient for crops, fruits and flowers.

Statement (II) : Phosphate rock has been located at Maton, Karbaria-Ka-Gurha, Kanpur, Dakan Kotra and
Neemach hill, all the Aravalli formation of the Pre-Cambrian age near Udaipur and Jaisalmer
areas.

In the light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) and Statement (II) are correct.

(©) Both Statement (I) and Statement (II) are incorrect.

(D)  Statement (I) is correct but Statement (II) is incorrect.

(E)  Question notattempted

et < e Ry TR

HAT(I):  HISHS bl TgM AT GUBIEhHS & AT § FH1 i St §, S o e, well IR el & g

H 5 2t €1
HIT(I):  HIEHe T2 H, HIETAN-H1-TRET, AR, SThA i 3R o= qeifedt # fod T 13 94l 3qaq iR
TR TATRT & U i-H{Ts@ I shi Sl SC=m 1 |

ST T o 3T o, i fEu T fashedt § § wed Suge ST 1 |

(A) TR (I) T & AR R (IT) T T

(B) YU (I) R ke (I1) I T T

© AT (I) SR (1) T T ¢ |

(D) R (I) Tl T AfHAT R (IT) Tod S|

() SuRd 9

72.  The poultry feed includes :

(Choose the most appropriate option from below)

(A)  Concentrates and maize only (B) Roughage and concentrates only

(©) Maize and barley only (D) Maize, barley, pearl-millet etc.

(E)  Question notattempted

i-gHI # 9% e 2d €

(71 ¥ & werg Iuged fashed I7)

(A)  HIA TG ART TR HaRhT (B) Had Hie 3R Mer =w

©  Fad "t iR St fafga (D) HFHI, ST, SR AN

() SuRd 9

73.  Which Indian state recorded the highest wind capacity during 2022-23 ?

(Choose the most appropriate option from below)

(A) Tamilnadu (B) Karnataka ©  Gujarat

(D) Rajasthan (E)  Question not attempted

2022-23 % ERM fohd WA T H S=3am vaq e (foe wafafe) =t =1 8 2

(71 ¥ & werg Iuged fashed I4)

() Ty (B)  hlch © Ted

(D) TSt (E) IR FeA
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74.

75.

76.

77.

78.
79.

80.

Which is the largest ocean in the world ?

(A)  Arctic Ocean (B)  Pacific Ocean (© Indian Ocean
(D) Atlantic Ocean (E)  Question not attempted

fova H T 9ISl HRETR A1 § 2

(A) 3Th{H HEHTR (B) I HRIEFR © &g meErr
(D) AR HRETR (B) 3TRd 9sd

T 1 iR | 5TH | B IR IS § ?

@)  FEEH ® F © FE

D) T ()  STIARa wed

Co-founder of Non- Aligned Movement (NAM) was .

(A) C. Rajgopalachari (B) Jawahar Lal Nehru (©) Mahatma Gandhi
(D) Sardar Patel (E)  Question not attempted

T RUE AT (NAM) o Fe-HemTe 9

(A) . TSRy (B)  STETE AT TB® (©) T e
(D) TER YA () orFaRd ¥

Which country became the world’s first country to make abortion a constitutional right ?
(Choose the most appropriate option from below)

(A) Malaysia (B) Poland (©) France

(D) Holand (E)  Question not attempted

T R Tk Gafeh AR S e fa o A 91 9o <9 5 2

(f=1 5 & v Suga foshed 94)

(A) AR (B) dris © |

D) Tls (E) ¥ wed

Which of the following banks is known as Bankers Bank in India ?

(A) Indian Overseas Bank (B)  Punjab National Bank (©)  State Bank of India
(D)  Reserve Bank of India (E)  Question not attempted

frfafad § § ford sie 1 A # Sehd S & TH § ST S § 2

() Efead oo d& (B)  HSIE YA Sk © YR VR H&H
D) yrdr s S () oTaRa oA

The Rakha Copper Mines are located in .

(A) Madhya Pradesh (B) Rajasthan (©  Jharkhand

(D) Odisha (E)  Question not attempted

T IR G el e § 2

(A) THAYR (B)  TSEIH © IREE

(D)  eifem (B) ST e

Which of the following Constitutional Amendments gave constitutional status and protection to the Panchayati
Raj institutions in India ?

(A) 75th (B) 72nd © 73

(D) 74th (E)  Question notattempted
Frefafea # 9 forg daunfes Teinem 3 9Ra # d=medt T Seensi o gt S SR TR gH @i ?
(A 758 ®) 729 © 73a

(D) 7490 (B) 3Tid usd
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81.

82.

83.

84.

85.

86.

In the following question each set of numbers follows a similar pattern, find the missing number (?).

Frefafed we7 § Ydie e &1 T9E, Tsh UM SHH 1 STTH I €, 79 @ S (?) 1 hifee |

(7 () ()
A 8 B 13 o 11

O 19 (E)  Question not attempted / ST T

=0 9 &I o1 fot | w1 s T § 2

(a) B) R © TR
(D) 3Hfd (B) AR e

Which one of the following Iron-ores known as Iron-Carbonate ?

(A) Limonite (B) Haematite (©)  Siderite
(D) Magnetite (E)  Question not attempted
frfafed # § # | Te-3Th H ARA-HEHE % &9 H S S s 2

(A) ez B) TR © fosweE
D) R ()  TIARE wed

Who is the current Chairperson of Rajasthan Human Rights Commission ?

(A)  Justice Ganga Ram Moolchandani (B)  Justice N.K.Jain

(©)  Justice Shri Ram Chandra Singh Jhala (D)  Justice Prakash Tatia

(E)  Question notattempted
AR T TR HASTRR ST T 78] i © 2

(A) R T I e (B) S TAF. S
© rEfd f aEs e e (D) R JehTn drfe
() SRR wed

Plantation of which of the following trees can help to prevent forest fires in Himalayan region ?
(Choose the most appropriate option from below)

(A) Tendu (B) Mahu (© Rhododendron
(D)  Chir pine (E)  Question notattempted
Frefafea § @ =0 o1 981 feaem & § 99 1 310 &1 T | Fereh 8 Tohdl § 2

(f=1 9 § woe Suge foshed )

VI ®) © TEEIEEH

(O) =g (F) ST oo

‘Operation Flood’ is associated with .

(A)  RedRevolution (B)  GreenRevolution (©)  White Revolution
(D)  BlueRevolution (E)  Question not attempted

* S TS T HAH ©

(A) O Hifd 9 B) BRAHAH © vAdHIfdd
(D) et whifa 9 (B) TIaRd gsA

~ B23 19 P.T.O.
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87.

88.
89.
90.
91.

92.

93.

In which year was the High Court of Rajasthan established ?

TSTEAT 3o AT hi 9T ford ol g3 ?

A) 1951 (B) 1948 © 1949
D) 1950 (E)  Question not attempted / SN T

Choose the most appropriate indirect form of the given sentence :
“Wait for me at the bridge”, said Rahim.

(A) Rahim requested her to keep waiting for him at the bridge.
(B) Rahim told her to wait for him at the bridge.

(©) Rahim asked to wait her at the bridge.

(D) Rahim said that you have to wait for me at the bridge.

(E)  Question notattempted

Which of the following tourist centre is located close to Barmer ?

(A)  Sam Sand Dunes (B) KiraduTemples (©)  Shergarh Fort
(D) Natanion ki Haveli (E)  Question not attempted

frefafed § @ w1 72 T TTe & IH feom €2

(A)  FHH X H I ®) feug iR © 3T foRem
(D) AT T gl E) IIRATH

Which of the following states has the highest solar power generation capacity ?

(A) Kerala (B) Rajasthan (©  Tamilnadu
(D) Karnataka (E)  Question not attempted

fors B 9 form T B R STl Scae arl Hord St § 2

(A) (B)  TSwEAM © dfHeTg
(D) Hieh ()  STIda 9

Tea is an indigenous crop of

(A) India (B)  Britain (©) China

(D)  SriLanka (E)  Question not attempted

=T T 31 1 T 3 HEA © 2

(A  YRd ®) fafem © =

(D) et (B)  SIHE 7o

Which of the following input devices allows to input alphanumeric characters and special characters into the
computer ?

(A) Keyboard (B) Mouse (©)  Monitor

(D)  Printer (E)  Question not attempted

Frfafeaa & 9 &F @ e fearey, auisisn™ T‘TTQT (characters) 3R ford TTITQT (characters) el HFX T Jorw i
SFA AT 2

(A) e (B) H=H © HH

D) fix (B) ARG YA

First human to walk on the surface of the moon was :

(A)  Sunita Williams (B)  Yuri Gagarin (©)  Neil Armstrong
(D) Buzz Aldrin (E)  Question not attempted

AT & Tde R I Jrell Ugel JHd ¢

(A) gt fafees ® T A © e eHR
D) = feed (B) aRd T

~ B23 20
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94.

95.

96.

97.

98.

99.

How many person have held the post of Chairman of NITI Aayog since its formation (till July, 2024) ?
Hfd AT % A & AR ¥ T Th (JAE, 2024) foha Ao o 31288 U8 W STEHH gUE ?

@ 1 ® 5 © 4
O 2 ()  Question not attempted / STTARA T

Which of the following Banks was originally named as Imperial Bank of India ?

(A)  Central Bank of India (B)  Reserve Bank of India (©)  State Bank of India
(D)  Punjab National Bank (E)  Question not attempted

frafafed # @ fora S 1 ga T ShHfEa S 2w fean on?

(a) Hed & ATE sfea (B) R e S © YRdE V&
(D) °ST& A9 Sk () TaRa A

Which schedule was added to the constitution by the 73'd constitutional amendment of 1992 ?

(a) 11th ®) 6th © 7t

(D) oth (E)  Question notattempted

733 G Feied, 1992 | Gfaum § SiF-E STE Siet T ?

a) 11 B) 6d © 74t

D) o (B)  3Tid 9%

What is the main function of central processing unit (CPU) in computers ?

(A) Toprocess data (B) To display data (©) Totransmitdata
(D) Tostoredata (E)  Question not attempted

FR § Az WARET I (CPU) 1 9 & 901 § 2

(A) ARSI I THERTT HEAT (B)  3iferel oY TRFI LT (©) kSl bl HHfd HE
(D) iihel w1 Gufed HT () IR w=

In which month is the festival of Kajli Teej celebrated in Bundi ?

(A) Shravana (B) Phalgun (©)  Bhadrapad

(D)  Chaitra (E)  Question not attempted

fore W H hotelt o o1 eR & § 7 S § 2

L B) EEH © ER

D) A () TgaRa o=

Choose the most appropriate option for the passive form of the sentence below :
They rang the church bells as a flood warning

(A)  The church bells are ringing a flood warning.

(B)  The church bells were rung as a flood warning.

(©)  Asaflood warning, the church bells have been rung.

(D)  The church bells are rung as a flood warning by them.

(E)  Question notattempted

~ B23 21 P.T.O.
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100. Whatis a Special Economic Zone ?

101.

102.

103.

104.

(Choose the most appropriate option from below)

(A) A unique zone which is subjected to higher taxes and duties.

(B) A special zone created in the capital of India for certain entities.

(©)  Aspecially created area for those with income of 1 crore and above per annum.

(D) A duty free enclave of development and is deemed as foreign territory for the purpose of trade, duties and
tariffs.

(E)  Questionnotattempted

forr smfefeh & € 2

(f7=1 & & T Iuge fosea 9+)

(A) T TSN & ST I H SR Yohl & 3T 7

(B) RA i TSI | S HES o foQ s T U fomi &9 |

© 9fdad 1w A1 3G Afeh T ATl Sl o fole s T Uk faers &5 |

(D) T =1 Yook Toa & IR AR, Yook IR SN % 329a F foelt & o s €1

(B) 3Tgaiausd

‘Golden langur’ is main fauna of which of the following biosphere reserve ?

(A) Manas (B)  Simlipal (©)  GreatNicobar
(D) Nanda Devi (E)  Question not attempted
frfafed # § ffe 59 ARfEa &9 %1 g e, Tieed @’ 2

(A) HFE ®) faficoe © FfRER

D) =< () STIaRd ¥

Which of the following state is known as Molasses basin ?

(A)  Tripura (B) Manipur (© Mizoram

(D) Assam (E)  Question not attempted

frafafea # | #iF & 75 Freifed 9fem & 99 8 S S e ?

(&) Fg () TR © fi

(D) &H () ARG 9

Who was the Chief Commander of the Mughal army in the Battle of Haldighati ?

(A)  Khurram Khan (B) Hakim Khan (© Mehman Singh
(D) Man Singh (E)  Question not attempted

BRI & g5 H el U1 1 G JATIf i off ?

A) FTETH (B) TfRA @A © e fog

(D) +wHfEE (B) ARG YA

Which of the following area did not cover in first stage of Indira Gandhi Canal project ?

(A) Barmer (B) Ganganagar (© Hanumangarh
(D) Bikaner (E)  Question not attempted

fer et TR afES o gem =wer § frefafed § 9 w9 s miaa T8 o ?

(A) TSR B TR © FFE

(D) &R () TaRd g

~ B23 22
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105.

106.

107.

Given below are two statements :

Statement (I) : Ajmer was an important centre of political awakening and socio-economic activity from the
final years of the nineteenth century.

Statement (II) : In 1888, a delegate from Ajmer - Marwars participated in the Allahabad session of the Indian
National Congress.

In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) and Statement (II) are correct.

(©) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E)  Question notattempted

BEEUCEERCUE
HAT(I): 1990 YRl o S Tl & STSTHR SHITTeh STTEehdl 3T ATHITSToh- ST STieheid o1 Teh Heul hg
ST TR o7

HRAT(I): T 1888, H YRATH U FHiUH & TSR HA H SATHR-ANETS o gfaffet 3 v fern
SR YAl & el H, = fau e forsmedi H | Herd Suger s A |

(A) YA (I) T &, TR AT (1) F T |

(B) YU (I) 3R KT (I1) T T T |

© A (1) R FHAT (1) 21 T 2 |

(D) M (1) T 8, AfehT e (1) TTed 1

()  STIaRa wRd

Which of the following file extension is applied to a MS - PowerPoint 365 Presentation by default whenever you
saveit?

frefafed § 9 SF 91w R T.TH. qierdiEe 365 JSivH W 1 a1 7, ST 319 39 fewee & () grfem
FAR?

A)  xps B) .pptx © xls

D) .doc ()  Question not attempted / STARA T

If the wheel of the engine of a train, - meters in circumference makes 7 revolutions in 6 seconds, then the speed

(in km/hr) of the trainis:

e Fareht YorTE) % B9 % ufew # wRe % e % 3 7E 6 FFE F 7 TR T 2, 4 Y ) ae
(Tt /st &) s &2

@) 27 B) 18 © 20

D) 25 ()  Question not attempted / STTARA T
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108.

109.

110.

111.

112.

113.

The first two figures are related in a certain manner. From the given options choose the correct option that
establish the similar relation with the third figure to replace question mark ?

TeW, 1 SMpfaal U e <n @ Geifea € | dE-t sTpfa o T THM Frar T i gu Jerem=s: s & T
R ™ 3R TEl famey 1 =g9 Hifaw |

3
o o o 2
8 8 9 :
o 0
3 2 3 :
o o o o]
A 9 B) 9 © 9 D) S

(E)  Question not attempted / SN T

The artificial satellite which is seen at fixed position when viewed from the same location is called :
(A)  Geostationary satellite (B)  Non polar satellite

(©) Polar satellite (D) Remote sensing satellite

(E)  Question notattempted

e Hi 3T 9 3H W W e s W W fafved feaf (freag i) & e s e

)  9-=fqw sTE (B) M UIeR 3WE

© e ITR O ™= i (Remote sensing) 39T

(F) TR e

States Reorganisation Act was passed in :

(A) 1956 (B) 1952 © 1953
(D) 1955 (E)  Question not attempted

T e siffad s wifid gem o ?

(A) 1956 H B) 1952 H © 1953 H
D) 1955 & (F)  3TgaNa 994

Integrated Child Development Scheme (ICDS) was started in the year :
Tehiehd et forehre s (ST E e, ) ford o & ohi T8 off ?

A) 1985 (B) 1970 © 1975
(D) 1980 ()  Question notattempted / ST T

In how many agro climatic zones, is the state of Rajasthan divided, for the purpose of agriculture ?

Ft F SR W, TTRAH I 1 ot Fie Setarg & § faenfora faran mn €2

A) 20 B) 8 © 10

D) 12 ()  Question notattempted / ST T

‘wler H ffed wuw @

(A) T ®) ST © wHIRA
D) e (F)  STIR S
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114.

115.

116.

117.
118.

119.

120.

121.

GEll-1 < |1 FGeit-11 1 fia i
-1 -1
(@) Endorsement () for=am
(b)  Transliteration (i)  STFHEA
(0  Subordinate (i) ST
(d)  Transformation (iv) TR
= T T foshedl H @ oM Suged S g
@) (@- (), (b)- (i), () - (i), (d)- (i) B)  (@)- (i), (b)- (i), (c) - (iid), (d) - (iv)
©  @-3), (b)- ) (c)- (v), (d)- (i) D) (@)- (i), (b)- (i), (c) - (i), (d) - (3)
(E) ST A
T Y R T IS § 2
(A) T 9 FH T (B) &€ [ I A9 e Y |
© TS TS A | D) WA 32t 7k 3R T o7 e |
B)  ITIRA T
‘TR W H |1 S 2
® @ ®) ©
® ¥ B)  STIARd g
“Glimpses of World History”, book is written by .
(A) Mahatma Gandhi (B)  Jawahar Lal Nehru (© Raja Ram Mohan Roy
(D)  Sri Aurobindo Ghosh (E)  Questionnot attempted
“frorg ot Tee feedt!! qEaes T fomdt €2
(A) TR e (B)  STETE AT ToE (©) T M T T
(D) &t sfeRy = () TgaRd o=
What is India’s national flower ?
(A)  Sunflower (B) Lotus (©) Rose
(D) Roheda (E)  Question not attempted
TR T TSI I I ?
(A)  EEE (FESHE) B) A © e
D) e ()  STITRa T
Choose the most suitable word for the phrase”Fit to drink” :
(A) Hard and Saline (B) Potable (©)  Venial
(D) Contaminated (E)  Question not attempted
TTH 9 D e o T ¥ ?
(&) TR ®) © =
D) T (F) R we
This vitamin is an antioxidant, fat soluble and obtained from plant oils :
(A)  Vitamin By (B)  Vitamin B;, (© VitaminC
(D) VitaminE (E)  Question not attempted
e faarftm it qodt-srfee=, o foeia § oiR 38 W8 % da | < o S @
() faafa i, ®) foerfa =i, © Tt =t
©O) foafiEs (B) HATINGTH

~ B23 25 P.T.O.
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122.

123.

124.

125.

126.

127.

Which of the following amendment act provided reservation of seats for women, in the Urban Local Bodies ?
(A)  74th (B) 65th © 68th

(D) 73rd (E)  Question not attempted

el T e o Afgenet, 7 9l < TR o1 wrau fefated § 9 foe dfawm denem sifufem gra fea
T ?

(A) 749 (B) 659 © 684

D) 739 (B)  TIaid gsA

In PowerPoint presentation, animation mainly decides.

(Choose the most appropriate option from below)

(A)  how theslides rotate. (B)  how theslides appear.
(©)  how theitems in the slide appear. (D)  how the textlooks.

(E)  Question notattempted

TfeRuig= Isiov | UHHYH & 9 § a1 i s g ?

(71 ¥ & worg 3uged fashed I9)

(A) TS HY A (B) TS HY f@E I T

© TR H 9% FH fem 3t € (D) <= 5y fT@E 3@ Tl

()  SFERE A

Which of the following is not a social networking website ?

(A) Hotmail (B)  Facebook (©)  Snapchat
(D) X(formerly Twitter) (E)  Questionnot attempted

frefafaa § @ =19 T 9o SeafeT dJadEe T8l § ?

@) TeHd B) WEIH © wIHE
D) X (qd # fer) (B)  STIANa g

All the aspects of population are discussed in which of the following subject/science ?

(A) Cartography (B)  Ecology (©)  Demography
(D)  Oceanography (E)  Question not attempted

frafafeaa &  foa fava, faam o smeen & 94 s == 2t 2§ 2

(A) HHAfERE (B)  TRfEefdet ©)  SHHifETh!
©) = fomm (F)  SIERA

TR T Ao % w9 7 R Y 1 W foha S 2

(a) g (B) THErRH © TEEE

) Fd () ¥R e

The profit earned after selling an article for Rs. 680 is same as the loss incurred after selling the same article for
Rs. 426. Find the half of the 50% of the cost price.

(A) Rs.138.25 (B) Rs.190 (© Rs.150
(D) Rs. 148.25 (E)  Question not attempted

Teh I T 680/~ TII T = TR (S ool T % hl 426/ - T | =9+ W gE M o THH ¢ | 363 oI & 50%
I ST 1A SIS |
(A) ¥ 13825 (B) % 190 © % 150

(D) % 14825 (B) Taid usA

~ B23 26
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128.
129.

130.

131.

132.

133.

The characteristic of the computer to store data, information and programs is called :

(A)  Speed (B)  Accuracy (©  Versatility
(D) Storage (E)  Question not attempted

AR i g fafersedr, ford T, g T el %1 G fhan < ], 9% Feand ©

(A) T ®) wfgfem © gl
(D) GURY I &HAI () ATIRd T

If the second half of the English alphabet ‘after M’ is written in the reverse order, which letter will be sixth to the
right of the thirteenth letter from the leftend ?

FfE STISH ToTaTer o TEY 3 A&R T M F oI5 et SR 3¢ hH B o et od 9% 9 Redl 78R F IE AR
BT 18R I | 2

@ Vv B H © T

O U ()  Question not attempted / STTARA T

The states created in 1960 were :

(A) Haryana and Himachal Pradesh (B) Maharashtra and Punjab

(©  Maharashtra and Gujarat (D) Manipur and Tripura

(E)  Question notattempted

11960 T giem T & :

(A) 3R R ferraa wew (B) HERIE IR Y

©  werrg SR TeRE (D) AT AR g

(B) 3Tgaiausd

Which of the following district has highest production of cotton in the state of Rajasthan ?
(A)  Jaiselmer (B)  Jhunjhunu (©  Bikaner
(D)  Sri Ganganagar (E)  Question not attempted

7t H o ToF | T o el SATUeh ScqTed i st et ©

A)  SHTR ®) 9F1 © SR
O) & TR (B) TIaid g

First Global Summit on traditional medicine was organised by the World Health Organisation in which state of
India ?

(A)  Gujarat (B) Kerala (©  Uttar Pradesh

(D) Karnataka (E)  Question not attempted

o wameen H1ed g AR fafehean T qeen afe RIer F9er va & ford Toa § TrRifSa feran o 2
(A) TSR B) A © SWWRW

(D) Hieh ()  STTaRd 9%

In India’s context full form of CSIR is :

(A)  Corporate, Social and Industrial Research.

(B)  Council of Scientific and Industrial Research.
(©)  Council of Science and Innovative Research.
(D)  Council of Social and Industry Reproduction.
(E)  Question not attempted

IRd % Hey H CSIR o1 01 &9 1 § ?

(A) N, HNE TS sveigaa e«

(B) HRMEW ATF AEf=fhe e svefgad =
© HRE ATE B TS gt R

(D) wHEMES ATE Wi Tue guefiz Rurewe
E)  STgHRa W
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134.

135.

136.
137.

138.

139.

140.

141.

Choose the most appropriate English word for :

ElLl
(A) Procession (B)  Procuration (©) Proconsul
(D) Proclamation (E)  Question not attempted

A candidate who gets 20% marks fails by 15 marks but another candidate who gets 42% marks gets 12% more
than the passing marks. What is the passing mark ?

20% e YT T aTeTl SFHIKER 15 37eh! T STHH BT ST 8, Ao 42% 37eh HT hid STl 37 SHISR bl STivt
37l T 12% Afeen 3ieh oo & | o arerd o1 € 2

@A) 33 B) 30 © 45

(D) 40 ()  Question not attempted / ST T

Which of the following is the largest zinc producing mine in Rajasthan ?

(A) Kayad Mine (B) Rampur Agucha Mine (©) Sindesar Khurd Mine
(D) Jawar Mine (E)  Question not attempted

=1 § @ U™ it ged a8 STl SR WIH § 2

(A) IR EH (B) T ST T © fEmgiEn
(D) SR @EH (B) TIaRd usA

The first Chairman of NITI Aayog was :

(A)  Dr. Manmohan Singh (B)  Sh.Narendra Modi (©)  Sh. Arun Jaitely
(D)  Sh. Arvind Panagaria (E)  Questionnot attempted

fifer AT % g SreAe 3

(A) = TR f6' B) & g A= © & 3TE et
(D) 41 eRfog g () ARG T

Whatis the percentage of reservation for women under MNREGA Act, 2005 ?
(Choose the most appropriate option from below)

T STfafa 2005, & q&d Afecsti o fou 2R = gfawe feam & 2

(=1 4 & Aerd Sugert foened )

A)  40% (B) 20% © 25%
D) 33% (E)  Question not attempted / SN T

T § HIF I 1 i T2 ?

(&) o B Fo © et
D) o (E)  FIARE W

Choose the most appropriate word to fill in the blank in the given sentence :

If they that picture lower, people would be able to see it.

(A) don’thang (B) hung (©) hang
(D) would hang (E)  Question not attempted

Rhinoceros are found mainly in one of the following National Park/Wildlife Sanctuary :

(A)  Mhadei (B) Kaziranga (©  Periyar
(D) Rajaji (E)  Question not attempted

el gerd: 30 9 foh T Ureh/a=reiia S19aRud | 9T S § 2

@) TE B) AT © TR
D) TSl (E)  SFIARE W
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https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

142.

143.

144.

145.

146.

What should come in the place of question mark(?) in the following alpha-number series ?

o

Frrefafad auishHie e | geares 9% (?) o T 9 H 3T =T ?

X4Z, T9U, P25P, L49K, ?, D169A.
(A)  GI121G (B) HI2IF (© G8IF

(D) HS81F (E)  Question not attempted / ST T

Which city of India hosted 1415t International Olympic Committee Session ?

(A)  Chennai (B) Delhi (©  Mumbai
(D) Kolkata (E)  Question notattempted

IR o ford TR 1 14137 ST efeiftes wfafa = <1 enfaes faman 2

(A) R @) feeed © TR

(D) I (B)  STIHRa o

A person is facing East. Then he turns 135° in clockwise direction and finally turns 180° in anti-clockwise
direction. In which direction is he facing finally?

(A) North- East (B) West (©  South

(D)  South-East (E)  Question not attempted

T Ao g faen &t IR ifigE € | SU 91K 9 135° TSl i fa9n H gedr § SR sida: 180° WS & fauda fawn #
el ¢ | 279 I8 fond o i 31X q@ F:3h @l © 2

(A)  SRE (B) Hi¥=H © =fem

(D) <fogE E) STARa A

The movement for a Separate Andhra was called as

(A)  TheRegion of Andhra Movement (B)  The Vishal Andhra Movement

(©  The Vishal Movement (D)  The Telugu Movement
(E)  Question notattempted

3T Y o feIT U AR 1 A4 o :

(A) 3Ty & AR ®) foema sty svidem

©  forme sicrer (D) O ST

(E) STTIRd

Choose the most appropriate Hindi translation for the given sentence :

Your anger is justified.

(A) TR TET S R | (B) T ET SH-3TF T | () 3T T 3l TR |

D SATIeRT & IS TRl § E Question not attempted
N Y
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147.

148.

149.

150.

has been established, by government of Rajasthan, with an objective to disseminate useful scientific
and technological knowledge at the ground root levels.

(A) National Research Institute

(B)  StudentScience Center

(©)  Science and Technology Resource Centre

(D)  Science and Technology Recreation and Research Center
(E)  Question notattempted

TS TR, fogm wd wrenfient faum g/ T THHT TR qeh ST SR Te Greifies! JE &
TR A o Se3d W Tid fohan T ¥ |

(A) TSI ST TEAH

B) B foum &g

© foIm wd drife SaeE 5

() foam T drenfient #HAReH we e %y

(B)  STFaRa wd

Choose the most appropriate option :

A good official letter need not have -

(A) Latin quotations (B)  Proper salutation (©  Clarity of language
(D)  Clarity of subject (E)  Question not attempted

The mother of Shivani’s sister Ritu is Kavita, the mother of Kavita's sister Neha is Maya. How is Neha related to
Ritu ?

(A)  Mother (B) Paternal Aunt (©  Maternal Aunt
(D) Cousin (E)  Question not attempted
et st o g T T Hiaar B, Hiol it o el i A/ W=, @ Te1 A6 UG 9 0 Gy § 2
@) = B) g ©
(D) HIE & a9 () oTgaia g
Which of the following archaeological sites of Indus Saraswati Civilization is in Pakistan ?
(A) Harappa (B) Dholavira (©  Raipur
(D) Kalibanga (E)  Question not attempted
iy Txeadt gward &1 = § § 9 91 i e g § § 2
@) T B) e © TR
(D) IS ()  3TTRa g
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